
 147 

 
 
10  

En 
K Kareler Y A
En K Kareler Y

 
 
10  

 

 
 

0.4. 
 

1210 uYaPaaD  

2210 uWbPbbS  

D=S 
 

 

1

11

21

11

12

11

0110 uw
ab

ba
y

ab

ba

ab

baba
D  

2

11

2

11

2

11

00 uw
ab

b
y

ab

a

ab

ba
P  

 

1121110 VWYD  

2222120 VWYP   

 
Burada; 



 148 

11

0110
10 ab

baba
 

11

12
11 ab

ba
 

11

21
12

ab

ba
 

11

00
20

ab

ba
 

11

2
21

ab

a
 

11

2
22

ab

b
 

11

1211
1 ab

avbu
V  

11

21
2 ab

uu
V  olur. 

 
 

model parametreleri 
0, a1, a2, b0, b1, b2) 

 

)(
22

12

20

10
200a  

)(
21

11

20

10
200b  

22

12
1a  

21

11
1b  



 149 

)(
22

12

21

11
212a  

)(
21

11

22

12
222b  elde edilir. 

 
10  

 
 

 
sal denklemin genel ifadesi; 

uXCXCYbYbYbY kikiGiGiii ........ 112211  olsun. 

Burada  
Yi  
Xi  

 
 

 
 

112121111 .... VXXXY kk  

222221212 .... VXXXY kk  

 
 

GkGkGGG VXXXY ....2211  dir (Koutsoyiannis, 1989). 

GYYY ,....,, 21



 150 

 

Y

1994). 
 teker 

 

Y  
*

112211 ........ ikikiGiGiii uXCXCYbYbYbY  

Burada; 

GiGiii vbvbvbuu ....22111
*  dir. 

 
uXCXCYbYbYbY kikiGiGiii ........ 112211  

i  

111 vyy  

112 vyy  
 
 

GGG vyy   

ikikiGGiGiii uXCXCvYbvYbvYbY ....)(....)()( 11222111

 

elde edilir: 

)....(........ 2211112211 GiGiiikikiGiGiii vbvbvbuXCXCYbYbYbY

 
 

(Koutsoyiannis, 1989). 
 

0.5. 



 151 

ya  
 

 
 
 

 
Burada; 

 
 

 
: t-  

: Gelir 
 

belirlenmekte olup, , ,    
 

 
0.6. 

 
 

 (Model 1) 
 (Model 2) 

 
Burada, 

) 
 

 
0.7. 

ediniz? 
 
 
 
 
 
 
 
 



 152 

1. Bir Piyasada A M Arz  
D (Ton) S (Ton) P (TL/Kg) Y (TL) C (TL) 

12 12 8 18 3 
14 14 8 23 5 
18 18 6 23 4 
18 18 6 33 6 
23 23 5 33 6 
22 22 5 38 8 
28 28 4 42 6 
33 33 3 42 8 
35 35 3 38 8 
45 45 3 28 7 
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